ELECTROMAGNETICS | SECOND MIDTERM EXAM

Dr. Salih FADIL July 27, 2012

#1) Consider the figure given in the following. If the electric field intensity vector becomes

zero at point P(0,0,h), express p, in terms of (.

o

Pi‘i:‘r@r (0,0,2h)

#2) If plane x =3carry charge 20 nC/m’, lines x=5,z=3 and x=7, y =6 carry charges

—_

30 nC/m and -25 nC/m respectively, 50 nC point charge at pint (0, O, -5), calculate the E
value at point (1, 1, 1).

#3) Consider the figure given in the following. Calculate E at point P.

Q.
Py

T P (O,JO; ['])

Good luck...©
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